5191 Wr %

a) ()= 01 FCx) mt FCO)=1

(‘:f(0)=1/\ k=014
o e g Y

C}(/Jonnq//t//() 4/0[4)/«;.,
[ojunj a[(gcmcm

f(x)=c-¢€ o

b) P (x)= -0,0 FO0)

L= [’(0)'— 10 A h - -0,1

5 F= 40 e

F(0)=10

LU/'ffl’;F’l‘Lla/j[c,'(AunJ
;‘\4"' C)(Pﬂnfn/‘l't'/(u l‘/atlfu:luw. 1
[ﬂJtmj a//JNnu'r'!

TR

c) f(x)- 0,4(5-1‘(»{)) it
A

F(U) 0| Or FT'"" 2/l /nr/mnj
Fu's }JmhvanA/u Lachslbuwr

k S
" [ emein!

=5_/\A=0/1 0.76/}0‘[ e
"S:—, f(x):S-cc
einselitm _04')( |

F(X)' 5_ C € _040
Da FCo)= @ sern soll = fle)=5-L"¢ =@ T
e T ¢=S-Fo)

d) F'x)= 0,4(5-Fx)) mrt [(0)=10

JEeE
b
= 5‘}:[0) = (=

i e s

y =0 ==§

01}/"’“11/(:/ leithun ’
Fu'v }l:rhyonl;/n Vo:ii/am

Zﬂf‘lﬂ) OI(JIV"L’I

J ’(){)‘— L e
-0 x '

-hAy

S+5 e




